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o & A, The F lx-yl © 3ol F 4 gz AL

® 3 @ ® 9 @33 ® 6

B ~

VITS05 = /B X 2x T = 5105
L oxy =170
(x, ) = (1, 70), (2, 35), (5, 14), (7, 10),
(10, 7), (14, 5), (35, 2), (70, 1)
O~

whabA |x -y 9] gtol 2 4 gl e @oltt.




58. /2 7b A4k s ke ol 3 B Ak ASE 2 AR

@4 @54 @6 @A G 3

B ~

10 < x <99, x = 3k2(k : %) O]|BE x = 3x22,3x3%3x
42,3 x 52

x =12, 27, 48, 75

oo 47N




59. a7} 1203} 210 Atolo] =< uf,

Fotofel,

A4} HES She a B BE

3%

> =

cCh "
H =

147

v V V¥
0
i

0
i

192

% =b (b AHAF)OIER a = 3b% 9] Fo|H Hr}, 120 <
3b? < 210

40 < b2 < 70

b=17,8

L a=3xXTx7T=14TFEa=3x8x8=192




60. V34a © 7ko] A5t Hi = A A o = BE @ AeIA]
Tsfofet,

V2da 7} A 57 H7] YA 240 £ SFHAAFST} B ojof
Ela=3

24 = 23 x 3 o] B 7} 22 24 ¢ 9] Zh2 6 o|th.

weta] T2e] = 6x 22, 6% 32, 6 x 42 o[},

.. 371tk




61. ZA5 n o tisto] ya olste] ArA49] HFE f(n)olet & o,
FO) + £©2)+ fB) + -+ f(n) = 1612 TZFHdt= n o] e 519
et

> E:

> ™et: 41

B ~

Vi=1,V4=2,V9=3 V16 =4, V25 = 5, V36 = 6, V49 =

(==

n=1,2 34, fn)=1—3x1=3
n=4 ,8%ﬂ1,f(n):2—>5x2:1()
n:9,-- 159 o, f(n) =3 — 7x3 =21
n:16,---, Ao, f(n) =4—9x4=36

n=25---,354 M, f(n)=5—11x5=55
n=36-,484 W, f(n) =6 — 13x6 =178
3+10+21+36+55:1250]_TL
n=410]H 125+ 6 x 6 = 161

Son=41




62. 4< V2n < 7SSt A0 O g FolA HRAGL o, HRUS
bet &, a+b o] 27

®3 @3 ® 34 @ 35 ® 36

B )

42 < (V2n)? < 72
16 < 2n < 49

8<n<%:24.5

S HAga =24, R RF b =9
a+b=24+9=33




63.

ofx

V15 < V2x < V250 & WESH= ¢
X

A Vax 7t AR} s

B

V15 < V2x < V250 —» 7.5 < x < 125
V2x 7} A4t = H

x =2xk% (k= #Ad5) oo gtk
=49, x=2x4=38
=9d W, x=2x9=18
=164 W, x=2x16 = 32
=254 W, x=2x25=50

K =36¢ M, x=2x36="72

k2 =49 o, x =2 x49 = 98 O|t}.




64. 5< VIn<6 S BEol= A%, o A5E Fatolal,

> E: 7

> ®E 27

5 < Vin <6 — 25 < Vin < V36

%<n<9.'.n=7,8




